ZARENAROY (BE L)

(1) 105° (2) 30°
1) EZAFD3ID2D/IFTRTELLNS
£ZB=60"°
ADBCIZHENT, AHLAADHEEMNS
Lz =45°4+60°
=105°
2) EZAFD3ID2D/IFTRTELLNS
ZC=60°
AADCIZHENT
Zx=180°—(90°+60°)
=30°

35°

LACD DKX X% 2 L9 5,

AABD I3 BA=BD O_EU=AFTH 515
ZADB=(180°—40°)+2=70°

AADCIZF DA=DCO_FIL=AFTH D15
LDAC=ZACD==x

AADCIZEWT, AALAADHEEMNS
z+xr="70°

EoT, z=35"THHNH6 ZACD=35°

B
AABF & ACDE IZEWT
AT DX FE L VDS

AB=CD - @
BC=DA
BF:%BC, DE:%DA THEMNH
BF=DE = --eee ®
SEATIHAFE DN HIZFE L WIS
LABF=ZCDE .- @

O, ®, ® LY, 2WEZOEOANZENTNELONS AABF=ACDE



